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160733

DIRECTORATE OF SCHOOL EDUCATION
CENTRAL SECTOR NATIONAL MEANS-CUM-MERIT SCHOLARSHIP
EXAMINATION, 2023
(FOR STUDENTS STUDYING IN CLASS VIII)

Roll No. 1

Full Marks : 90
Time: 90 minutes (10-30 AM to 12 Noon)

Instructions to Candidates

Mental Ability Test
Class-VIII Code  State Code Year Code Centre Code Serial No.
23 213
oo & do
93 2 o G (7T 0-9ob! (IeF TIF 50N)
A worm afs et

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken

against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the

‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in the
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.

29038

o Ted (reTR A e favtiefe W fo
oot | Teaafe 8.aw . el e |

S @ A@ @6 Soft A Ter e 3@
oSG aoim T 5 (99) | 77 Arsiw T fice TR |

31 et AfS aey BRI TSy BeR (a), (b),
(c) 4R (d) (I Ads Tl @ R e.auw.
Teei e 3! 18 G o7, Tereirg A Tealta
AT I8 HTe HHfera It (ol =71 S 33 |

e () @ (© @
(9 b’ AT Tew 1)

o 3 WP avy 3w @ e Hrewad
Tl OeR T 471 7|

81 (PITN AS SO 73 |

¢l ATFRCFI RGNS SRR TR o
TEIR AN MR TEWI @ I |

v 8. qu. 7. Tereira S g A, ey
2 fuie eepia s 3

U AR YO WMol ANFID €. qu

e T e 1S ep=tafl A FTIE o gy
QTS AN |

Please Turn Over




MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions
1 to 10, there are four items, three of which
are alike by some means or other while one is
out of the class. Find out the odd item and
give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(e 1—10)

[T & 1 (2@ 10 438 2t 2o 51 w0 o
g, A foaqB @I 7 (PO AP qR
AR S | G2 AT A MG I AE
Seal Fva @ @3z O.M.R. Tezsitax g

78 A I (O Te TS e (]
1. (a) A8C
(b) D22G
(c) H42M
(d) F34]

2. (a) Green (33%)
(b) Violet (@)
(c) Brown (Imii)
(d) Yellow (=)

3. (a) Lakshadweep (sirsfaiet)
(b) Manipur (3f4237)
(c) Sikkim (Fif)
(d) Haryana (2fF@a)

4. (a) 9:80
(b) 7:50
(c) 3:8
d1:0

Be

10.

(@ 3-5
(b) 5-3
(c) 2-6
d 5-2

(a) AOT
(b) REB
(c) KPA
(d) WIT

(a) Cement (FIG3G)
(b) Sand (afe)

(c) Brick (35)

(d) Building (A1)

(a) 594
(b) 671
(c) 790
(d) 891

(@ 13
(b) 15
(c) 17
(d) 37

(a) 34
(b) 49
(c) 56
(d) 63



(Questions 11—25)
DIRECTION: In each of the

questions, a number of series 18 81
one of the term missing. C
alternative in the position
continue the same pattern and a
O.M.R. Answer-Sheet by filling
(e 11—25)

P 2 a2 eioy Fog e @RF 0
3 TR I crewt ZETR| AT @S GRS
(7) B B e Tea® O.M.R. TS
s 3 =7 I oot Taw e I 1]

11. 1,3,6,10,15,7?
(@ 21
(b) 23
(c) 20
(d 19

nswe
the circle.

12. 87, 80,74, 69, 65, ?
(a) 61
(b) 62
() 65
d) 66

13. 40, 15, 30, 25, 20, 35, ?
(a) 13
(b) 81
(c) 72
(d) 10

14. 3,7,15,31,7
(a) 30
(b) 40
(c) 63
(d) 60

[4]

15.

16.

17.

18.

19.

20.

1;458: Al
(a) 18
(b) 20
(c) 22
(d) 24

625, 5,125,25,25,7,5
(@ 5

(b) 25

(c) 125

(d) 625

0, 6, 24, 60, 120, 210, ?
(a) 504
(b) 336
() 290
(d) 240

66, 36, 18, ?
(a) 12

(b) 6

©) 9

(d 8

5,9,17,29,45,?
(a) 69
(b) 60
(c) 65
(d) 70

840, 168, 42, 14,7, ?
(@ 5
(b) 4
(c) 3
(d) 7



21.

22.

23.

25.

2,6, 12,20, 30, 42, 56, ?
(a) 64
(b) 72
(c) 75
(d) 84

1 1 2 2
2 12=. 142 .16% .9
s 122, 1o, 16250
(a) 40
(b) 30
(c) 20

(d) 10

16, 22, 30, 40, 52, 66, ?
(a) 72
(b) 82
(c) 84
d) 86

31, 13,45,54,37, 7
(a) 59
(b) 63
(c) 73
(d) 74

4,5, 12,39, 160, ?
(a) 805
(b) 706
(c) 604
(d) 540

(Questions 26—45)

DIRECTION: In each of the questions 26 to
45 a figure or a set of figure is given, each of
which bears certain numbers/alphabet
following a certain pattern. You have to
decipher this pattern and accordingly find the
missing number/alphabet in the figure and
denoting your selected answer on O.M.R.
Answer-Sheet.

(ery 26—45)

[Pt 3 26 (AF 45 758 el ey e oo
ez ofel Brg o R{fMe /g A @
e ored Wil @R Al W
el @ ROEET TR | ONT FiE 2=
3 RIS i 713 Beafe O.M.R. Tesitad

7% g8 73 I Ten Roiire e |)
26. [30]

36 | ?
4 |49

(4]

28. 6 1200] 4
7 [318
8 | 2

(a) 400
(b) 426
(c) 476
(d) 448

[5]



29.

(a) 10
(®) 5
(c) 7
d) 6

30. 17 18

11

5 257 314 23

(a) 21
(b) 15
(c) 14
(d) 18

31.

(a) 15
(b) 17
(c) 18
(d) 16

32.

[6]

5 7 (1
6 lo3|1s|[ o] S\LSOE\
T
(a) 33
(b) 89
() 243
@) 42

64

(a) 125
(b) 81

() 216
(d) 243

34. 5 3
T /144 49\ 4

-
{!Ei’ 27

"

oG

2

(a) 100
(b) 110
(c) 120
(d) 113

?

8

36 / 5




35. pah
_ (@) 1
(b) 8
© 12
d) 27

1%/

e

\E

36.

(a) N
(b) P
© T
d A

%

37. (101 43| |48

35 15 56

34

184

(a) 198
(b) 158
(c) 142
d 127

(a) 1
(b) 4
(c) 2
d 3

O
5%

(a) 8

(b) 21
(c) 32
(d) 64

41.

18
7 56| 7 ||15]67 12 1166;_‘
12 8 ?

(@) 2
(b) 7
(c) 14
(d) 17
40. AN
2 7
56
? 28

Solaplep

[7]

(@ 20
(b) 75
(c) 26
(d 25



42.

43.
5/3\6 6/3\7 4 8
4 5 10

45.

10
29
13

3 4
6 8
7 24
12 ?

(a) 9

(b) 7

© 5

(d) 2

@ 9
() 5
(©) 2
d 1

12

16

10

10

15

(a) 4
(b) 2
©) 3
(d) 6

(Questions 46 —49)

DIRECTION: Study the diagram which is
given below and give the answer of the
Question 46 to 49 on your O.M.R. Answer
Sheet.

(et 46—49)

[T ¢ Aoox Baef SETSIE 7% T 4k o7
Boin ofe T 46 (AT 49 LT alr Ae
%ea® O.M.R. Tz +tad M3 I8 st w03

comIR Sag fArie I )]

46. How many straight lines are there in
the following figure?

N2 Babre ol AT Az?

(a) 12
(b) 14
) 13
d) 16

47. How many triangles are there in the
following figure?

e Paltre Toul fogew wm?

AN
ERN

(c) 8
(d) 10

[8]



48 How many trapiziums are there in the
following figure?

Ava Hafbre sovf Gnfsifemw wm 2

(a) 10
(b) 13
(c) 12
(d 14

49 How many triangles are there in the
figure given below?

A e o Touf fige s ?

A\

Py

(@ 5
(b) 6
(c) 8
(d) 10

[9]

(Questions 50 —SS5)

DIRECTION: Study the diagram which is
given below and read the Questions carefully
and give your answer in O.M.R. Answer
Sheet.

(et 50—55)

(o 3 A3 ool SETeiR &% F@ 93
sl SIESI 2108 @38 O.MLR. T&7 2/tq &
7 ]

50. Which one of the following diagram

indicates the best relation between
RHOMBUS, QUADRILATERALS and
POLYGONS?

o7 @ Bab 7997, ToTE R ITYET
& TR I FHo9F QR 2

(a) (b) @ o
© @> @ @

. S51. Which one of the following diagram
indicates the best relation between
PROTONS, ELECTRONS and ATOMS?

ABT @ Bab (@bd, TE/A 9R
ARITMYF T A ST 7o (@RI 2

B0
©) ) @D O



52. Which of the diagrams indicates the
best relation between PIGEONS, BIRDS and
DOGS?

Nwa @ ot s, A @R FRE
T STEB! 31 (AT OIETSIE @RI 2

(@) @ <
© QOQ @

53. Which of the following diagrams
indicates the best relation between the

TALL MAN, BLACK HAIRED PEOPLE,
INDIANS?

BT @ BalS 7 T, I IS
@I, SITOT — G T FHAF! FASE SIS

¢
-® ~OC
@ @

54. Which of the following diagrams

indicates the best relation between CAR,
WOOD and MOUSE?

e 1 s i, 15 w3k e e
FRAT S 794 (AR 2

5S. Which of the following diagrams

indicates the best relation between COPPER,
PAPER and WIRE?

BT @ B o, Fise 9 ©g-a
W AICATS SIGET T4F (IR0 2

"0 =63
o(@ye @D

(Questions 56—60)

DIRECTIONS: Study the following
information carefully and give the answer by
filling the circle of the letter denoting your

selected answer on the OMR Answer Sheet.
(e 56—60)

ot s e oY ST A, Rew

TeRaferd Wi (A AT T [ et @7
OMR Tezsitas e 38 <79 I (o T
e st

Five friends A, B, C, D and E are sitting on a
bench.
1. A s sitting next to B.
2. C s sitting next to D.
3. Dis not sitting with E.
4. E 1s on the left end of the bench.
5. C is on the second position from the
right.
6. A is on the right side of B and to the
right side of E.
7. A and C are sitting together.

sfve 3 A, B, C, D @&k E @36 @ I
o |

B-93 2Nt A 07 S&=A |

D-93 it C 307 e |

E-43 #iiet D 307 (92

E Q@3RI AT 2 |

C i 20 om F oiiees |

A, B-93 TR @3R E-93 ©eed
2 |

A @R C A4 3031 Siiges |

O A Ak £ e

P

[10]



56.

57.

58.

59.

60.

Where A is sitting?

A (FIUF 6T M= 2

(a) Between B and D (B 9T D-qx
M)

(b) Between D and C (D @32 C P
R

(c) Between E and B (E 93 B-qx
M)

(d) Between B and C (B g3z C-¢a3
)

Who is sitting in the Centre?
(F WA ICT Wieew 2

(a A

(b) B

(c) C

(d) D

C is sitting between—
C T R I HT=A
(a) B and D (B @3t D)
(b) A andE (A @R E)
(c) Aand D (A @3 D)
(d) A and B (A 9% B)

What is the position of D?

D-93 s_ZH F?

(a) Extreme Left (G@Itd INATS)

(b) Extreme Right (4(FI THATE)

(c) Third from left (IHF (ATF TOI)

(d) Second from left (AW (A
o)

What is the position of B?

B-93 57319 i 2

(a) Second from right (THMF (T
faom)

(b) Centre (Sfa521t)

(c) Extreme left (G7FITH INLITS)

(d) Second from left (IMWT (VT

o)

(Questions 61—69)

DIRECTIONS : In each of the questions 6_1
to 69, three out of four figures are alike 1n
same respect and one is different from others.

(e 61—69)

Ao 2 61 (A 69 AT i aroba me
et s Wi fou  @IE-H-@IETei
GPFIFN G32 96 TR (AT e | &ffS e
3 S fBaf @ I AT Tl iva et
¥ O.M.R. Tez#itg T8 38 o9 I (O
Teq Ao |

61.
C A O
A VO
(a) (b) © (d)
62.
A | Z | E | N
(a) (b) (©) (d)
63.
dlloy | oA ‘
N o
(a) (b) (c) (d)

64.
(a) (b)

[11]
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(d)




65.
M| W|E | N
(a) (b) (©) )
66.
@) ® () d
67.
Ol Al O O
(a) ®  © d)
68.
@& N
(a) ®  © d)
69.
@) ®  © d

(Questions 70—80)

DIRECTIONS: In each of the following
questions, select a figure from the four
alternatives which placed in the blank space
of figure would complete the pattern. Indicate
your answer by filling the circle of the letter

. denoting your selected answer on the OMR

Answer Sheet.
(e 70—80)

ot ¢ Tz 2T amw cve wRE oRb
w o caee @l A e foaafe s ga =
o stz Teal® OMR Tez#iaz WiTs 38 3
IR (O Te TS Il |

70.

@ | ®) | ¢

© | —> (d T

71.

‘__

@ | N (b)
©) y ) _{

[12]



72.

LY,

73.

(a)

(©)

74. b

(a)

(c)

75.

(b)

(d)

RYR%

(b)

(d)

76.

o | S
@ |

[13]

(a)

©

(b)

(d)

(a)

(c)

(b)

(d)




R A

SHES,

77.

——

(b) ]

80.

(a)

(b)

78.

(a)

(c) Q (d)

(d)

©)

[14]



(Questions 81—83)

DIRECTION: In each of the follow;
questions, choose the correct water ima e1 ng
the object (X), out of the four alternatgiveOf
Indicate your answer by filling the circle osf
the letter denoting your selected answer g
the O.M.R. Answer Sheet. .

foit s AT 81 (UF 83 sty 2ol

o 00 < o o s vy e o
b O.M.R. Teasitan g .

foite el | T

81.

(X)

[15]

82.

(X)

106

106

(d)




(Questions 84—87)

DIRECTION: In each of the following
questions, choose the correct mirror image of
the object (X), out of the four alternatives
(when mirror is placed on the line AB).
Indicate your answer by filling the circle of
the letter denoting your selected answer on
the O.M.R. Answer Sheet.

(e 84—87)

fid s Mo 84 (AT 87 e Afel Avsw B
s a5 (2w 3 s el 314 3ea
(X) vg7 afefRy i wmaw ot A (T3
S AB R IRIRE TR ARL) | (O TR
O.MR. Temvitan RfF8 g8 sz @ FUiS

IET
84. A
B @ ® © @
85.
A
< E (o] () ) Ze,
B @ ® @© (@
86.
A
.t |tollor!ltolloT
B @ ® © @
87.
A
. + : |+ (X x| [+ +
% X e O S e

B @ ®» © @

(Questions 88—90)

DIRECTION: In each of the following
questions select a figure from the four
alternatives which placed in the position (?)
of the figure would complete the problem
figure matrix. Indicate your answer by filling
the circle of the letter denoting your selected
answer on the O.M.R. Answer Sheet.

(ery 88—90)

ot 2 T 88 (AT 90 1w 2fels @ vl
fm Tex-fou (A @ Reaft e fereett oz (2)
B A Ba PG 7l 203 ©f (79 Tt @R
s few Tea® O.M.R. Teasitan S 8
439 I (O T&d e FC |

Al D
AN

88.

[

(a) (b) (©) (d)

[16]



89.

90.

/ "\

4

(d)

(©

(b)

(a)

(b) © @

(a)

[17]
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CENTRAL SECTOR NATIONAL MEANS-CUM-MERIT SCHOLARSHIP
EXAMINATION, 2023

261091

(FOR STUDENTS STUDYING IN CLASS VIII)
Scholastic Aptitude Test

erEEhpS AfTw

Class-VIII Code State Code

Year Code Centre Code Serial No.

Roll No. 1

Full Marks : 90
Time: 90 minutes (1-00 PM to 2-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ ‘ @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose onthe OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.
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Mathematics
1. (999 +
(@) 2

_1_)2 _(999 __1_)2 -
99° 99’
(b) 4

(c) 99%
@ 1

2. If ‘x’ be a real number, then the
maximum value of (14 — 6x — x?) is
(a) 23
(b) 33
© 0
(d) 10

3 Ifx=1

’
a

2
then(—l--}--l-}-l) _(_2_.*._2_4__%.):
X y 2 Xy Yy %

(@ 0
M) 1
(c) a*+b*+c?

(d) P+y=+7

1 1
y = Z =5 andx.y.z.a.b.c;eo,

4. Ifx>1and x* +—IT= 727 , then the value

x
of (x3 —-—13-) is
x

(a) 100
(b) 120
(c) 150
(d) 140

5. If a, b, c are real and
a*+b*+c*=ab +bc +ca, then the value
“2;") [Here, b # 0]
(@) 1
(b) 2
() 3
d 4

o

2
1. (999 +—15) —(999
99

(a) 2
(b) 4
() 99%
@) 1

2. ‘x’,mﬂww,(14—6x—x2mwww

T TR

(a) 23
(b) 33
(0
(d) 10

1 1 1
3. x=—, Y= Z_Eaﬂa\ x.y.z.a.b.c # 0

2
_, (l.},l.}.l) _(34.2..‘.1):
x Yy 2 xy Y X

[3]

:

[

®) 1
(c) a*+b*+c?
(d) +y*+7

4, I x>1 938

)
x

! )-«ﬂ?{ﬂﬁm
(2) 100
(b) 120
(©) 150

(d) 140

5. a,b,c I8 a*+b*+c*=ab +bc+caTH,

A [T, b # 0]

2b I T =

(@ 1
(b) 2
(3
d) 4



2 ¥
6. If (a+%) =3, then the value of

30 8

a +a24+a1
(@ 0
() 1
(©) 2
d) 3

+a?+a®+1=

3\ n )3 )
7. If (x" ) =(x3 ) and x is any real
number, then ("“\)/;_ =

(@ 11

(b) 2
(c) 3
d 4

8. The number of positive divisors of 648
is
(a) 8
(b) 10
(c) 12
(d) 20

9. Which one of the following statements
is true?

(a) 1is a prime number.

(b) Each and every prime number is
odd.

(c) There are infinitely many prime
numbers.

(d) The product of two primes is
always a prime.

10. Ifinatriangle ABC, ZA:/B:/C=1:1:2,
then AB : BC: CA s
@ V2:1:1
(b) 1:1:42
(©) 1:4/2:1
d) 1:42:43

2
6. I (a+—2) =3, ¥

a30+a24+a18+a12+a6+1-tﬂ§7nﬂ=
@0
(b) 1
(c) 2
d 3

o 3
7 (xn?'J =(x3 j @38 X (T CRIT IR gy

7, (nt1) o=
(a) 11

(b) 2
(© 3
(d) 4

8. 648-97 4P SeAMPETI AT 2F
(a) 8

(b) 10
(c) 12
(d) 20

9. Jie Rfoslem sy @il e
(@) 1z Glifer 1A |
(b) grorlb Chfers 313 Rres |
(C) PN T (fere 2! TSI |
(d) 6 CNfers Seayta werest 7wl (TS
|

10. fége ABC-co3fi Z/A:/B:/C=1:12%,
W AB : BC : CA 2@
(@ V2:1:1
(b) 1:1:«/5
(C) 1:\/5:1
d 1:v2:3

[4]



11. What is the maximum value of an
exterior angle of a regular polygon?

(a) 60°
(b) 120°
(c) 180°
(d) 360°

12. H.C'F. of 144 and a natural number x,
with 500<x< 600, is 144, then x is
(a) 570
(b) 595
(c) 504
(d) 576

13. H G

Sum of the angles
A " /A, /B, LC, /D,
B E /E, /F, £G, ZH

C D

(a) 180°
(b) 540°
(c) 360°
(d) 720°

14. If the average of five numbers be 14 and
the sum of three of five numbers be 36, then
the sum of the rest two numbers is

(a) 34
(b) 36
(c) 14
(d) 18

15. If a number be increased by 50% and
then decreased by 50%, the resultant effect is
(a) an increment by 25%.
(b) a decrement by 25%.
(c) no change.
(d) an increment by 30%.

11, (I 9P I2gred @3 3Rey e difEe
T O O ANF?
(a) 60°
(b) 120°
(c) 180°
(d) 360°

12. 144 8 93 FeIRE A x93 A9,
@A 500<x< 600 21 144, Ot x I
(a) 570
(b) 595
(c) 504
(d) 576

13. H G ZA, /B, /C, /D,
A@F /E, /F, /G, /H
B . o & @itesfera S 221
(a) 180°
(b) 540°
©) 360°

(d) 720°

14. #fiofo M 1T 14 @32 vl F=aiw Wy
foulG 1221 7l 36 e, TR S e WS =@
(a) 34
(b) 36
(c) 14
d) 18

15. @3 MY 50% & IR 27 50% I
W, OF &1§ T (W—
(a) 25% 3%
(b) 25% g%
(c) +fféq @ N
d) 30% 3%
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16. If we divide a natural number ‘n’ by 6,
we get the remainder as 5, then the remainder,
in the division of ‘2n’ by 4, is

(@ 3
(b) 2
(© 1
d) 0

17. A_E D ABCD is a square.

Then, Area of
[JABCD : Area of
ABCE =

B C
(a)
(b)
(©)
d

21
1:2
3:1
1:3

18. If a*b=a® , then (2*3)—(3%2) =
(@) 341
(b) 431
©) 134
d) 314

In the adjoining figure, ZAOE = 31°,
Z0OBC =90°, ZCOD = x, ZODC = 2x+14°,
then x =

o

(a) 22%

(b) 25°
(c) 15°
(d) 30°

20. Pravat works twice as Pritam. If they
finished a work in 12 days, working together,
then the time, Pritam would take to do the work
alone is

(a) 20 days
(b) 25 days
(c) 24 days
(d) 36 days

16. <= TOIRT YT ‘1’ 6 T St 2y
DI T 5, O 2~ 4 T 191 T oy

]
(@ 3
(b) 2
(© 1
@ o0
(CABCD~ oy

(ABCE~9 Cvaree) <

B C
(@ 2:
(b) 1
(c) 3:
d 1

18. 3 a*b=a’ T, OR (2¥3)—(3%2) =
(a) 341
(b) 431
(©) 134
d) 314

1
2
1
03

19.

Ttz 5wg, LAOE = 31°, ZOBC =90°,
ZCOD =x, Z0DC =2x+14° 2, x =

(a) 22%

(b) 25°
(c) 15°
(d) 30°

20. 2ere, Aox-97 Radt FiE 0 | OIF G

<3 e 12 i R 20w, Ao Gt FEH
@

(a) 20 fw
(b) 25 fatw
(c) 24w
(d) 36 fw
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Physical Science

21. A water tank is placed at the rooftop of
a ten storied building and each floor has a water

tap. Which tap will take least time to fill up a
100 L bucket?

(a) 1st floor
(b) 5th floor
(c) 10th floor

(d) same time in all floors

22. Mass of a substance is 10000 gm and
its volume is 100 m3. The density of the
substance will be

(@) 1kgm?
(b) 0-1 kgm™
(c) 10 gm3
(d) 100 kgm3

23. What happens when a substance from
its vapour state goes to liquid state?

(a) Mass is reduced.
(b) Temperature increases.
(c) Heat is released.
(d) Heat is absorbed.

24. Which of the following set is an
example of Isober?

@ *He,,’H,
®) ¥ Ang, Ky
© ¥ay,, a,,

@ PKy,%Cay,

cero e

21. 10 %o @:f AT QT 93T ST HiE W
R B 2T SR ST 3 g | (I SN
G IET AR FIGE I AN 30 100 TR
IS ©fS 1 A 2

(a) 1stoet

(b) 5th went

(c) 10th &=

(d) ATOTT TENTOR U2 FH FANA |

22. (I 9 ©F 10000 gm GIR 99 ST
100 m3 2= IBHF T 3

(a) 1kgm?
(b) 0-1 kgm3
(¢) 10 gm3
(d) 100 kgm3

23. TG I @I NI O Ao 17 (A
CEEACEE SR BICERE

(a) ST I

(b) Tee! AT |
(c) o fefe 7|
(d) ot ifes =3

24, T3 @D NRENAIES Brgaet 2
() *He,,’H,
(b) 40Ar18,40K19
© *¥a,.7a,

@) ¥K,,%Ca,,

[7]



25. When the temperature of a metallic wire
increases, its resistance

(a) increases

(b) decreases

(c) remains constant

(d) increases initially then decreases

26. The velocity of radiant heat is
(@) 3 x 10" m/sec.
(b) 3 x 10° m/sec.
() 3 x10® m/sec.
(d) 3 x 10" m/sec.

27. The potential difference between two
ends of a conductor is 10 volt, and its resistance
is 10 Q. What will be the current flowing
through the conductor?

(a) 10> mA
(b) 10 Amp
(c) 1000 mA
(d) 100 Amp

28. In the reaction—
PbS +4H,0, = PbSO, +4H,0

(a) H,0, is areducing agent
(b) H,0, is oxidising agent
(c) PbS is oxidising agent

(d) It is not an oxidation-reduction
reaction

29. With the increase in area of contact

between two surfaces, force of fiction
(a) increases
(b) decreases
(c) remains same
(d) initially increases then decreases

25. @IA! 41OR SR T2 IR (A, @7

(a) 3@ =

(b) g™ AW

(c) @32 U

(d) 2w i@ CATH ST T A

26. R oo sferet =&
(a) 3 x 10" m/sec.
(b) 3 x 10° m/sec.
(c) 3 x 10® m/sec.
(d) 3 x 10" m/sec.

27. @ #fFAR7 R 2Aes e &ren 10 volt,
AR @t 10 Q 2=, ARRIRT 760 T e —

(a) 10° mA
(b) 10 Amp
(c) 1000 mA
(d) 100 Amp

28, PbS+4H,0, =PbSO, +4H,0 & RfFw
(@) H,0, Reize vy
(b) H,0, @iz w3y
(c) PbS &7 w3y
(d) «fb wRe-Renze Riern w0

29. % ST et crame 3 X A
Tt 77

(a) AT

(b) W

(c) 9IR U

(d) U NS 7t 7w
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30. According to Newton’s Second law of
motion what happens to the acceleration of an
object when the force applied on it, is doubled?

(a) The acceleration is halved.

(b) The acceleration remains same.
(c) The acceleration is doubled.

(d) The acceleration becomes 4-times.

31. How does the reading of a spring
balance change when an object is partially
immersed in a liquid?

"(a) Itincreases.
(b) It decreases.

(c) It remains same.
(d) None of the above

32. How much ice at 0°C can be melted
completely into water at same temperature
with 3200 calorie heat?

(a) 80 gm
(b) 60 gm
(c) 40 gm
(d) 20 gm

33. A mixture of common salt and ammonium
chloride can be separated by

(a) filtration
(b) distillation
(c) sublimation

(d) crystallisation

30, FTHER RO IR, R T TR 2@

35 R 2ge, 387 929 D A2

(a) TR oES A |
(b) TFt G YA |
(c) &7t fawd =31
(d) 939 4-a9 T

31. <3S IEE @I oA WeTeR Wi

T PRITEER AAlS (N R ?

(a) «fb |

(b) @t I

(c) «ft ¥33 UICI |
(d) BT @AIDE T

32. 3200 IR witel AR 0°C THeeiq 39

AN ITFCE T AT @ @R Taeerr e

AR A AR
(a) 80 gm
(b) 60 gm
(c) 40 gm
(d) 20 gm

33. A TR ¢ SHTREN iRt e
@O 29T T AW O

(a) =
(b) sirew
(c) Ter
(d) e
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34. Ammonium chloride dissolved in water
is an
(a) exothermic physical change.
(b) exothermic chemical change.
(c) endothermic physical change.

(d) endothermic chemical change.

35. Which of the following apparatus is
used in titration?
(a) Test tube
(b) Measuring cylinder
(c) Funnel
(d) Burette

36. Which is a gaseous fuel at room
temperature?

(a) CNG
() N,
(c) Petrol
d) O,

37. Which of the following is a
biodegradable polymer?

(a) Terelene
(b) PVC

(c) Cellulose
(d) Teflon

38. The pressure exerted on a liquid or fluid
at any point inside it is transmitted equally in
all directions. This is known as

(a) Archimedes principle
(b) Bernoulli’s principle
(c) Pascal’s law

(d) Newton’s law

34. G FRIRCE & FAGS I G
R G

(a) SITIB (ST® “Afaqd |
(b) S5t aFTRfA s |
(c) O (T 2RIE |
(d) s aFmafa AREsa )

35. I 750 BREW FICS JIT© W2
(a) (G
(b) Wit (TS
(c) TICAe
(d) 3T

36. =9 SFeom AT RN @A 2
(a) CNG
() N,
(c) CAGr
) O,

37. |va @A wIREY (biodegradable)
siferig

(a) G
(b) FfeH
(c) eyt
(d) GFew

38, O MY (I KT &4y@ Hist AT
e e Awifere 2| oS @ e Ao ot =

(a) wRffErr A
(b) TR NS
(c) I 9
(d) Weom= g

[10]



Life Science

39. Neurospora is a type of
(a) Bacteria
(b) Fungi
(c) Virus
(d) Protozoa

40. Which of the following is the example
of a Rabi Crop?

(a) Barley
(b) Soyabean
(c) Maize
(d) Cotton

41. Which of the following animals is the
example of an invertebrate marine animal?
(a) Jelly fish
(b) Shark
(c) Hatchet fish
(d) Whale

42. Culex mosquito is the vector of which
of the following human diseases?
(a) Malaria
(b) Filaria
(c) Dengue
(d) Chikungunya

43. Which of the following procedure is
performed for the treatment of Tuberculosis?
(a) DOTS
(b) DBTS
(c) DCPS
(d) DZTS

44. Hepatitis is caused by the microbe
(a) Fungus
(b) Virus
(c) Bacteria
(d) Protozoa

ISECRTap|

39. Neurospora T & 43
(a) TGRA
(b) =@
() ofzam
. (d) s

40. fAsfRe =rafer g @t IR FER
ICETERS
(a) A
(b) =
(c) g
(d) Qe

41. FeRe difeflr T W 00 o
SRS AU 2T SriRge 2
‘ (a) cwfeAf
(b) Qe
(C) YIBE Y
(d) fefu

42. RFEEH (Culex) ™ WRmes FafERe
@ @aifos a2

(a) WA

(b) wRERm
(c) (=%

(d) PFroia

43. R @m ool T8 s Ramea o
IS T 2
(a) DOTS
(b) DBTS
(c) DCPS
(d) DZTS

44, ARGA @R T W S ==
(a) ==
(b) =fZR
(c) IR
(d) et
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45. Quinine is used in the treatment of
(a) Plague
(b) Dengue
(c) Malaria
(d) Small pox

46. Which of the following is an organic
fertilizer?
(a) Super phosphate
(b) Ammonium sulphate
(c) Urea
(d) Cow dung

47. Plastid, which is present in plant root is
known as

(a) Leucoplastid
(b) Chromoplastid
(c) Chloroplastid
(d) Rhodoplastid

48. First discovered antibiotic is
(a) Penicillin
(b) Streptomycin
(c) Ampicillin
(d) Erythromycin

49. Onion is
(a) Seed
(b) Flower
(c) Bulb
(d) Fruit

50. Which of the following is a mangrove

plant?
(a) Sal tree
(b) Sundari plant
(c) Waterhyacinth
(d) Mango tree

45. g GO BRRTS T

|
(a) cat
(b) =%
(c) iR
(d) ot =%

46. FERERS ErmmalE @D @3 @I T
(a) P FACL
(b) SHIGN HATCED
(c) Xefmt
(d) coIrR

47. S Tt ToifEe Aot 2@
(a) Fereriaitoe
(b) GFNATT
(c) FRATE
d) @refte

48. 29w wiRge SRFGAEIDS ==
(a) ARFfew
(b) BB
(c) wuififfem
(CVRGIERIIEEE

49. Alais ==
(a) =
(b) F=
(c) ==
(d) ==

50. fcw SRS Sfema el w1y Sfew e
(a) e Mg
(b) A g
(c) FRA=M=
(d) = otz
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51. Locomotory organ of star fish is
(a) Pseudopodia
(b) Flagella
(c) Cillia
(d) Tube feet

52. Which component of tea is being used
in leather industry?
(a) Tannin
(b) Caffeine
(c) Flavonoid
(d) Polyphenol

53. Microscopic photosynthetic plants
present in the aquatic environment, are known
as

(a) Phytoplankton
(b) Zooplankton
(¢) Protozoa

(d) Bacteria

54.  compound isfound in Garlic.
(a) Nimbidin
(b) Vincristine
(c) Allicin
(d) Vasicine

55. The main hormone secreted by testes is
(a) Oestrogen
(b) Testosterone
(c) Thyroxine
(d) Progesterone

51. SR NS SITAK
(a) =97n
(b) e
(c) Ffert
(d) FEAem

52, B-97 (@ TAMAD HAMIE JITS A2
(a) o
(b) WA
(c) FITSITRC
(d) offercpeet

53. TCE IR FAENFRCIR Afera
SRR SIS SfGTTTE I =X
(a) FIRCGIAZGA
(b) ’@ZUW
(c) S
(d) Il

54, QI TR T ToAfFe A |
(a) Fwffew
(b) feafeihon
(c) wmifefw
(d) enEt=

55. @ 7Rl e U WD =
(a) HITEw
(b) GTHIEGIN
(c) AR (Thyroxine)
(d) cANEHEEI
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History

56. Two Persian system, named ‘Sizda’ and
‘Pybos’ were introduced by

(a) Qutub Uddin Iboq
(b) Iltutmis
(c) Giasuddin Balban
(d) Alauddin Khalji
57. Who came in Calicut port in 1498 AD?
(a) Duke of Albuquerque
(b) Vasco da Gama
(c) Thomas Roe
(d) James-I

58. First battle of Panipat was occurred in
the year
(a) 1426 A.D.
(b) 1526 A.D.
(c) 1527 A.D.
(d) 1556 A.D.

59. System of ‘Patta’ and ‘Kabuliat’ was
introduced by
(a) Sher Shah
(b) Alauddin Khalji
(c) Akbar
(d) Shivaji
60. Rajput Rana Sangram Singha was
defeated by the Mughal emperor Babar in
(a) 1st battle of Panipat.
(b) battle of Khanua.
(c) 2nd battle of Taraine.
(d) battle of Bilgram.

61. ‘Akbarnama’ was written by
(a) Emperor Akbar
(b) Abul Fazal
(c) Badauni
(d) Al Biruni

iiwilﬁ
56. FrEmt @ Sz TS AT AN 4 e
7S AR
(a) TP AT
(b) ZETghA
(c) FormTeim @
(d) NS @i
57. 1498 B SIACSA IIfERFT IWCH GG

(Al )
(a) ETT o TEIIE

(b) SITF-A-sa

(c) BT A

(d) 2T &5

58. sffsicem 29 T&@ AR

(a) 1426 251

(b) 1526 BIH

(c) 1527 R

(d) 1556 R

59, ‘S{igr ¢ ‘TS’ AT AIE IR
(a) IR
(b) SETewe Heifer
(c) =T
(d) =&t

60. TS A ARAW Bigz GNisie 7T AE-9F
IR ~AIfEre 2
(a) AT AW A |
(b) I I |
(c) CARER fae = |
(d) R I=|

61. TIIAN’ AEH TS L
(a) FHD WP
(b) S T
(c) oM
(d) e R
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62. The last battle between Mughal emperor
Humayun and Afghan ruler Sher Khan took
place in the year

(a) 1529 AD.
(b) 1539 A.D.
(c) 1540 A.D.
(d) 1541 A.D.

63. The system of Dual Government in

Bengal was put an end in
(a) 1770 A.D.
(b) 1771 A.D.
(c) 1772 AD.
(d) 1773 AD.

64. During the reign of English East India
Company in India the ‘Doctrine of Lapse’ was
introduced by »

(a) Lord Cornwallis

(b) Lord Dalhousie

(c) Lord Wellesley

(d) Lord Lytton

65. Asiatic Society founded in the year

(a) 1784 AD.

(b) 1791 A.D.

(c) 1884 A.D.

(d) 1817 A.D.

66. Vernacular Press Act was repealed by
(a) Lord Lytton
(b) Lord Ripon
(c) Lord Northbrook
(d) Lord Curzon

67. Who was known as the ‘Vidyasagar of

South India’?
(a) Jyotirao Phule
(b) Gopal Hari Deshmukh
(c) Veeresalingam Pantulu
(d) Dayananda Saraswati

62. (ToE FET TS 8 WFEAT *NAT
(17 AT TG O JRO AR
(a) 1529 i
(b) 1539 Tt
(c) 1540 %=
(d) 1541 fao1c=

63. IH@ (7S *FAFIIZR SIA WO
(a) 1770 %1
(b) 1771 f&5ic
©) 1772 T35t
(d) 1773 RSita

64. SIATS 2S5 A @RI TR
FYREA A’ &6 I
(a) 6 el
(b) T TR
(c) 6 SEIE
(d) =T feioa

65. afimbs G afe =@
(a) 1784 f&or=

(b) 1791 RGic=
(c) 1884 Rt
(d) 1817 Rs%itw

66. (T SR QAW WL AT I

At
(a) =16 f&ow

(b) 16 Rl
(c) =16 wfa
(d) = eiw
67. wRe SrrTer RMper’ Tiw AfRve e
(a) cemfeRe g
(b) coltetrer R P
(c) Fezet e =ineey
(d) vaw" FIES!

[15]



68. Who was known as the ‘Father of Indian
Revolution’?

(a) Barindra Kumar Ghosh
(b) Aurobindo Ghosh .

(c¢) Kshudiram Basu

(d) Basudev Balwant Phadke

69. The Partition of Bengal was cancelled
in the year
(a) 1910 A.D.
(b) 1911 AD.
(c) 1912 AD.
(d) 1913 A.D.

70. Author of the book ‘A Nation in
Making’ is
(a) Surendra Nath Bandyopadhyay
(b) Jawaharlal Nehru
(¢) Umesh Chandra Banerjee
(d) Romesh Chandra Dutt

71. Who was known as the ‘Father of Indian
Constitution’?

(a) Dr. B. R. Ambedkar
(b) Jawaharlal Nehru
(c) Dr. Rajendra Prasad
(d) Mahatma Gandhi

72. The first President of Independent India
was

(a) Chakraborty Raja Gopalachaari
(b) Dr. Rajendra Prasad

(¢) Dr. Sarvapally Radhakrishnan
(d) Sardar Vallabhbhai Patel

[16]

69. IS | IA A
(a) 1910 %It
(b) 1911 5T
(c) 1912 oI
(d) 1913 RITA

70. ‘q G 3 (R 2T 6! ZE

(a) RGN ICHIAGIT
(b) TSI (=%

(c) STPIcH ICIAGET
(d) Te™ v e

71. ORSR MR TotP I
(a) ©3F R 4. N
(b) HERI (o
() ©: AMNTH 2P
(d) = SR

72. T ORTST 2w AR e
(a) SEFIS! A (MBI
(b) ©2 AT &A%
(c) I TR AR
(d) i ISR “ABat



Geography

73. Which day is called Vernal Equinox?
(a) 21st March
(b) 21st June
(¢) 23rd September
(d) 22nd December

74. Indian standard meridian is
(a) 80°30’' East
(b) 81°30' East
(c) 82°30'East
(d) 88°30'East

75. The air pressure is measured by
(a) Thermometer
(b) Barometer
(c) Anemometer
(d) Hygrometer

76. Name of the largest high plateau of
world is

(a) Tibet
(b) Pamir
(c) Anatolia
(d) Ladakh

77. In which of the following river delta is
not found?

(a) Godavari

(b) Amazon

(c) Kaveri

(d) None of the above

78. One of the example of igneous rock is
(a) Sandstone
(b) Limestone
(c) Coal
(d) Granite

[17]
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73. TRfFgEs Tl =
(a) 21 oot i6
(b) 21 o T
(©) 23 o CLBTR
d) 22 o e

74. 003 2 Tifs 25
(a) 80°30' &
(b) 81°30' =&
(c) 82°30' 4
(d) 88°30' 7F

75. G Mo =Y (@ ICEF AR —
(a) AARGE
(b) IR
(c) =nifmIfeR
(d) bR

76. A3 IS T AT TG 2
(a) o=
(b) =
(c) SeTeifern
(d) s

77. WsRe @ Siite 3-8 (7 —
(@) CMM—Q
(b) wsEw
(c) ™A
(d) Tozm @Iy T

78. SiTaw MR wlb Swizad ze
(a) AT
(b) ptete
(c) Ixen
(d) 2=i%



79. Blackfoot disease is caused by
(a) marcury
(b) arsenic
(c) cadmium
(d) fluoride

80. The highest peak of Africa is
(a) Toubkal
(b) Everest
(c) Elbrus
(d) Kilimanjaro

81. Which country is called the ‘Land of
thousand Lakes’?

(a) Norway
(b) Finland
(c) Iceland
(d) Italy

82. The rate of increasing temperature from
earth surface to downward is
(a) 1°C/10 meter
(b) 1°C/33 meter
(c) 1°C/100 meter
(d) 1°C/1 km

83. San Andreas Fault is the example of
(a) Convergent Plate Boundary
(b) Divergent Plate Boundary
(¢) Transform Plate Boundary
(d) Triple junction

84. ‘Pompero’ alocal wind flows in
grass region.
(a) Pampas
(b) Prairie
(c) Veld

(d) Steppe

79. g e AR P |
(a) =™
(b) TGE
(©) e
(d) FRR©

80, IR TRITCTR T [ 2
(a) ST
(b) @O
(c) =1 A
d) RfmeT

81. EIT ZHR (7T &N
(a) 8T
(b) fFene
(c) WTFTIS
(d) Zoifer

82. TP (V3 T-NEJBRA (s vl I 7
u

(a) 1°C/10 o=
(b) 1°C/33 517
(c) 1°C/100 o
(d) 1°C/1 =Bf{

83. N Wi e =51 9o 7
(a) SfSTA sire Ty
(b) =T “re St
(c) G it St
(d) 3ot e

84. AT RYNw WP T
TS e |

(@) iy
(b) RfF
(©) =%
(d) oot
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85. Which cloud is known as
cloud’?

(a) Cirus

(b) Stratus

(c) Stratocumulas
(d) Cumulas

‘Bumpy

86. The highest Biodiversity is found in
climatic region.

(a) Monsoon

(b) Equatorial

(c) Mediterranean
(d) Tundra

—

87. ‘Bhopal gas tragedy’ occurred in

(a) 1983
(b) 1984
(c) 1985
(d) 1986

88. There is a channel between India and
Sri Lanka —
(a) 9° Channel
(b) 10° Channel
(c) Palk Strait
(d) Bering Strait

89. The largest automobile industry in the
world is situated in
(a) Chicago
(b) Buffalo
(c) Detroit
(d) Wisconsin

90. ‘Parkland Savanna’ in Australia is one
type of
(a) tropical grassland
(b) temperate grassland
(c) evergreen forest
(d) deciduas forest

85. ¥ & ‘Bumpy cloud’ T «ififow ¢
(a) Fram
(b) PO
(©) FIFCLT
(d) e

86. FffF MG THINAIT____ &Ry
SR |
(a) Goffs
ORGELE
(c) AT
(d) et

87. (N A ‘Coteile sy o qofRe 2
(a) 1983
(b) 1984
(c) 1985
(d) 1986

88. ©IFS 8 AFFR R @ AN IR, ©f 7=
(a) 9° &
(b) 10° &
(c) = it
(d) @R g

89. |} Jzew @B Fflel Tl =iz
(a) MPIaiice
(b) JTFETS
(c) (ugEb-9
(d) SPfw-9

90. SCEFEAR ‘AFTE AW T ¢F 24
(a) FIET pergf
(b) Ao werght

(c) PmgE ==y
(d) ofeadt w3y
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